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Small CSCs numbering
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Matching and cuts
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CSC residuals
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ToF-400 residuals
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Efficiency (run 7842)
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Efficiency vs Run Id
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Efficiency vs Run Id

| CSCOo Efficiency By Runild |

N =
£0.98 = | \ s vt ., #IL“
— = - R 1 ! -l'-...,.*-,‘- Jl_# J-_‘ \ . n P
%0-97 —— "“"“‘ T4 1 I"l T"lll H‘i.“ \"‘M' w“’l’ ' g Yo ,5,}_‘", I Iw'l' "',“.-._- yh.ﬂ.- VY, "H"-
“oseif* ) | . | | ‘ .
7500 7600 7700 7800 7900 8000 8100 8200 8300
run id
| CScC1 Efficiency By Runid |
20385, o, v ~ |
2 = Ilh ALY -."'l"| [Sasmain = m st 4 1 N
S oo v/ ekt L L bt A
% 0%?12 i_ 'll ll"i'h'ﬁ ! """',"' 'l"“‘""f*l'f, T 1.- ir t"l.rr""' vy, """"'n'
0.9%556 7600 7700 7800 7900' —8000 8100 8200 8300
run id
| CScC2 Efficiency By Runid |
0
c | "I Hﬂl.l. ':'.'qnhlll Ol fagyy et 4 e . ol ,.]
50 f | '.“ ! #MJI. HI oty '-"F"'F' H—hl‘h "hv""l‘ S vl Vol "y ""|i"""lmm'I I1 L‘
£0.86
084 60— 7600 7700 7800 7900 8000 8100 8200 8300
run id
o \/8( 1 -8)/N | CSC3 Efficiency By Runild |
>0.94

£0.93 il ‘ |
;2°'92§'“"'W ‘1""‘"”! "“"urfm'a.'wa oo el T g b i 8 e
@ 0.91 w

7500 7600 77b0' 7800 7900 8000 8100 8200 8300
run id




efficiency
e o9
o o

o ~

7500 7600 8100 8200 8300
run id

MBT (BT+!FD) BT (BC1+BC2+!Veto)

| CSCo Efficiency By Runild |

A s bt i Shp S S S i S Sn s R A S S S A
- - -

—h

0.5 .

efficiency

%500 7608 7700 7800 7900 8000 8100 8200 8300
run id




2.56 kv
2.54 kv
252 kv
250 kv
248 kv
2.46 kv

244 kv

== ymon_1
= ymon_2
== ymon_3

== ymon_4

efficiency

14.05.2024

13

50

88 CSC /CSC_HV =5

O & bmn-scjinrry

55

14:00

Efficiency vs Run Id (CSCO)

/SU-3J7k/csc_hv?from=16740 L to=1674046760356

CSC HV voltage

14:05

1410

1415 1420 14325 14:30 1435 14:40 1448 1450 1455 1500 15:05 1510 1515 15:20

CSCO Efficiency By Runld, increase chcu from 2.45 to 2.50 kV

7805

7810

15:25

15:30

15:35

15:40

15:45 15:50 15:55

2.45kv  2.45kV
2.50kv  2.55kV
2.45kv  2.50kv
2.55kv  2.55kV

2.45kV
2.50 kv
2.50 kv

2.55 kv




Efficiency vs Run Id (CSC1)
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Efficiency vs Run Id (CSC2)
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Efficiency vs Run Id (CSC3)
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Resume M@Y

1. Residuals of CSC1 and CSC3 hint at proper energy loss
and magnetic field map

2. High efficiency of sCSCs
3. High stability of CSC efficiency during Xe run
4. AU =50V =Ae=0.5%

Thank you for attention!







Efficiency

7498 96.33 + 0.12 98.29 + 0.06 88.48 + 0.23 91.80 £ 0.16

7840 96.72 + 0.06 97.35 + 0.05 86.85+0.12 91.90 = 0.10

8305 97.37 + 0.04 98.32 + 0.04 86.91 +0.11 92.62 + 0.09
C, = \e(1-€)/N
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